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CIELABN? triangle lightness t*

t* Yoc=Yw  nc=100,

t* cieLaBn7 =109 (YY) Y25-9  (¥,=100, Y,/100<Y<=Y,)
t*n(3,6)=20,t*,(18)=46,t*\y,(90)=96

t*9=95,52,y=2,5, 1{=1/2,5=0,40
t*14=46,18 $,=108,42 D,=-8,42
167 Uil n
1°3,620,19,0,746,18 Y=18

CIELABN7

tristimulus value difference

YoemYw  nc=100,
t* CiELABn7 =LO9 (YY) 259 (¥,=100,,J/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/108)] + [1~(1/2,5)] logy)

* =46, dY,=4,57, dY,/Y,=0,2543
.

log(dY)=4,57, m,=0,60
>
% b
dYe=12,02,y=2.%, 1%<1/2,5=0,40
dY;5=4,57, §7105,4% D,=—8,42!
d¥3,6=1,73 V=154 d¥=4,57 !
ly,=18

Yn=3,6 ¥ Yy=90

application
range

log (AY/Y) CIELABN7
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* CiELABn7 =LO9(Y/Y)25-9  (¥,=100,Y,J/100<Y<=Y, )
log(@dY/Y)= log[2,5(1,/108)] - (1/2,5) log{/Y,)
= (1/2,5) log[2,5¢,/108)] - (1/2,5) log{)
N

-~
—0bS m= N3y
log(dY/Y)F-0,55 m, 3y e . . apphication
t*,=46, dY,=4,57, dY,/Y,=C,?542 : & fange

(dY/Yy=0,1336y=2,5, 14=1/2,8=0,40
(dY/Y)=0,2543 §=108,42 D,=+8,42
(dY/Y} =0,4830 Y,=100 dY;=4,67
1y =18
Yn=3.6 1 Yw=90

CIELABN7
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
t* CiELABn7 =LO9(Y/Y) 259 (¥,=100,Y,J/100<Y<=Y, )
log(Y/dY)= - log[2,5(,,/108)] + (1/2,5) log{/Y,,)
- (1/2,5) log[2,5(,,/108)] + (1/2,5) logY)

(Y/dYp=7,48,y=2,5, 1=1/2,
(Y/dY)g=3,93 §,7108,42 D,=—8142  application
(Y/dY} 2,06 Y,=100 dY=4,5%  range
1y,=18
Yn=3.6  Yw=90

CIELABNY relative triangle lightness t*/t*,

e, Yoc=Yw - nc=100,
tCiELABn7 =109 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
t*(3,6)=20,t* ,(18)=46,t*,y(90)=96

t*gg/t* =2,06,y=2,5, 14=1/2,5=0,40
t*1g/t*,=1,00 §,=108,42 D,=-8,42
15 /t*,=0,43,14,=46,18 Y=18

log[t*/t* ]=0, m,=0,47

application
range

1Y,=18
Yw=90

log(AY/AY,) CIELABN7 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
t CiELABn7 =109 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

dYe/dY,=2,62,y=2,5, 1{=1/2,5=0,40
dY1¢/dY,=1,00 §=108,42 D;=-8,42
dYz ¢dY,=0,37, Y,=100 d¥=4,57

dYu/Yu=0,2543 .
o

e e e
Ya=3.6  Y\y=90
log [(AY/Y) 1 AYIY),] CIELABNY relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
tCiELABn7 SL09 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
logl(dYM)/(AY/Y),] = - (1/2,5) logl/Y,)

(dY/Ypo/(dY/Y)=0,52,y=2,5, 1§=1/2,5=0,40

(dY/Y)g/(dY/Y)=1,00 §=108,42 D,=—8,42

(@YY (AYIY)=189 ¥:=100 dY=457- % = = =
S8 range

10g[(dY/YY(dY/Y),]=0, m~ 0.5

=46, dY,=4,57 d¥,/Y,=0,2543 |
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY), )] CIELABN7 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t CiELABn7 =109 (YY) 259 (¥,=100, Y,/100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,)

(Y/dY)o/(Y/dY)=1,90,y=2,5, 14=1/2,5=0,40
(Y/dY)g/(Y/dY)=1,00 §=108,42 D=—8,42
(Y/dY}g(Y/dY)=0,52 Y,=100 d¥=4,57

log[(Y/dY)( YldYL] =0, m-5,40

application
range

Y,=18
VNE3601 Y =90 T,

CIELABN7 triangle lightness T*
—L* =

T* Y=L w nc™

T* CieLan7 =109 (Y/Y) Y259 (Y,=100, ¥, /100<Y<=Y, )
T*N(3,6)=20,T*,(18)=46,T*y(90)=96

=95,52,y=2,5, 1§=1/2,5=0,40
T*18=46 13 Sh=108 42 Dy

BEZ71-1A
CIELABN7
AY tristimulus value difference
Yoc=L*w - nc=100,
T*CiELaBn7 =109 (YY) 259 (¥,=100, Y, /100<Y<=Y,o)
log(dY) = (1/2,5) log[2,5(,,/108)] + [1~(1/2,5)] logy)

A
.
*,=46, dY,=4,57, dY,/Y,=0, 2543

.

2
dYe(=12,02y=2.5. 2y=1/2,5=0,40
dY,654,57, G= -38,42 D,=-8,42!
d¥3,6=1,73 =100 d¥=4,57 !
ly,=18
Yn=3,6 1 Ygy=90

application
range

BEZ71-3A

log (AY/Y) CIELABN7

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
T*CiELaBn7 =109 (Y/Yp) 259 (¥,=100,Y,J/100<Y<=Y,))
log(@dY/Y)= log[2,5(r,/108)] - (1/2,5) log{/Y,)
= (1/2.5) log[2,5¢,/108)] - (1/2,5) log{)

~

=& . application
* =46, dY,=4,57, dY,/Y,=0, 254;) I & J;a'nge
(dY/Yy=0,1336,y=2,5, 11,:1/2,5:0,40
(dY/Y)=0,2543 §,=108,42 D,=+8,42
(dY/Y} 6=0,4830 Y,=10Q d¥=4,67
y,=18
Ya=3,6 1 Y\y=90

BEZ71-5A

log (Y/AY) CIELABN7

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T*CiELaBn7 =109 (Y/Yp) 259 (¥,=100, Y, /100<Y<=Y,))
log(Y/dY)= - log[2,5(r,,/108)] + (1/2,5) log{/Y,)
~ (1/2,5) log[2,5(,,/108)] + (1/2,5) log{)

T+ =46, dY,=4,57, Y,/dY,=3
log(Y/dY)=0,59 m;=0.25 2
z

(YIAY)=7,48,y=2,5, 1=1/2,5
(Y/dY)g=3.93 §,7108,42 Dy, application
(Y/dY} 2,06 Y,=100 dY=4,5%  range
1Y,=18
Yn=3.6  Yw=90

BEZ71-7A
BEZ71-7N

THT* CIELABN7 relative triangle lightness T*/T*,
THT*, Yoc=L*w - nc=100,

T*CigLaBn7 =109 (Y/Yp) 259 (¥,=100,Y,/100<Y<=Y, )
T*\(3,6)=20,T*,(18)=46,T*y,(90)=96

T*9o/T*,=2,06,y=2,5, 14=1/2,5=0,40

T*1¢T*,=1,00 $=108,42 D,=-8,42

T#3 ¢/ T%,=0,43,1%,=46,18 Y;=18
log[T*/T*]=0, m,=0,47

L*,=49,T* =46 —
application
range

1Y,=18
Yw=90

BEZ71-2A

log(AY/AY,) CIELABNY relative

tristimulus value difference
INUNG YorL* vy - n=100,
T* CiELAB7 =109 (Y/Yp) 259 (¥,=100,Y,/100<Y<=Y,)
log(dY/dY,) = [1~(1/2,5)] loglf/Y,)

dYoo/dY,=2,62,y=2,5, 1§=1/2,5=0,40
dY;¢/dY,=1,00 §=108,42 D,=-8,42
dYz ¢dY,=0,37, Y,=100 d¥=4,57

57 dY,/Y,=0,2543 _ #
5

BEZ71-4A
log [(AY/Y) | (AYIY),] CIELABNT relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T*CiELaBn7 =109 (/Yp) 259 (¥,=100,Y,/100<Y<=Y, )
logl(dYM/(AY/Y),] = - (1/2,5) logl/Y,)

(dY/Ypo/(dY/Y)=0,52,y=2,5, 1§=1/2,5=0,40
(dY/Y)g/(dY/Y)=1,00 108,42 D,=-8,42
(dY/Yyd(dYIY)=189 Y,=100 dY=4,57= = ===

&pplication
range
TS
logI(dY/YY(dY/Y),]=0, m,=-0,39 1
T* =46, dY,=4,57, dY,/Y,=0,2543 !
1v,=18
YNa36 . Y90

BEZ71-6A
log [(Y/AY) I (YIAY),] CIELABN7 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T*CieLABn7 =109 (Y/Yp) 259 (¥,=100, Y,/100<Y<=Y, )
logl(Y/dY)/(Y/dY),] = (1/2,5) logiY/Y,,)

(Y/dYbOI(Y/dY), L 90 rz 5, 1§=1/2,5=0,40
(YA ) g/(YIdY)= 08,42 D,=-8,42
(YIdYY J(YIdY o 52 Yn 100, dy=4,57

log[(Y/dY)(Y/dY),]=0, m,=0,40

T*,=46, dY,=4,57, Y, /s 1
= 1 application
1 range

1y,=18
NNE3601 Ya =90 T

BEZ71-8A

TUB-test chart BEZ7; CIELABn#A* & T* for Y/Y, with additional dataYn=(Y&L*) wrcBne
Absolute and relative lightness, sensitivity and cont&st108,42, 1y=1/2,5=0,40 8,42
M Y
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